287
Buding H % £ iiF KRy ek
; 148 G 139 C,
. NR [ML(1+4)
. 100 ' 54 +1.
) 1.2
NR
, 1.
s 65 r°min '
, 60 C ., . 30
s A—
, (HMM M)
2 « 5 min ,
NR s
Renacit 11/
WG . Renacit 11/ WG 2, 2- 1
(DBD).
. NR(TSR5) 100
N326 50
; (PCTP) 0
Renacit 7/ 6
WG 3
6PPD 1
(66. 6%0) 3
1 (Co 0.225) 0 44
11 3
(80%) 6. 50
Werner & Pfleiderer DZ 130
(Model GK 1.5E), 1.5 L, HMMM (50%) 4
s . NR 1.3
TSRS, 89, . 150 C,
Renacit 7/WG ( 0.125 ). Renacit 11/ too ,
WG ( 0.1 ) DBD ( 5 min.
0.1 . 0. 65, , 60 min
60 r°min71, 0. 8 MPa,
85 C, NR 10s . 1.4
s 3 min. :
, 148 C, DIN 53508, 70
, 16 min, C, 7 14d;



288 1999 46
DIN 53508, 70 C, 0.21 2
M Pa, 4 d; 2.
105 G 4 d; 70 NR 5441,
G 100%, 28 d.
15 . . 41
s 52
DIN 53523, , 100 C, 3
1 min, 4 min, , 3
MDR2000E , 150
< - . DIN 53504. 2
, DIN 53505, 23 70 C, Renacit Renacit
, DIN 53512, 23 VWG 1/ WG
70 G ’ Dﬂj 53533’ [ML(1+4100 44 52 47 41
’ 4 °min la (150 ©
1 MPa, 4.45 mm, ts1/ min 1.77 1.78 1.8 1.97
t/ min 19.40  19.32  23.22 22.62
’ DIN 53513/150 4664, S'/(dN°m) 33.32 31.55 3.53 35.12
s 10 HZ,
23 60 C, ( ,
F ) ,
QC Renacit  Renacit DED
’ 80 % 20 WG 1I/WG
mmX 15 mmX 6 mm, ( ) /MPa 21 25 25 24
3+9X 02240 15(N. V. Bekaert S. /% 35 384 33U 38
100% /MPa 5.1 5.0 4.8 4.9
A')’ 0. 675’ 1 200% /MPa 11.4 11.7 11.7 11.2
’ 8 . 300% /MPa 18.4 19.2 19.2 18. 4
A /
| 23 C 78 77 77 77
g 70 C 73 73 7 74
2 — ; /%
P 23 C 38 38 40 36
’ 70 C 50 50 53 52
4 -
~ 70 C .
RHEN
2 3 ,
. 14 d
s 6PPD
TR ( L
- 445 s 6PPD 2~3
b3



5 . 289

4, 4 , Renacit 7/ . , DBD
WG  Renacit11/ WG . ,
100 s
1
AE MM »
80 % — .
¥
B %7 % ;
# o0 7 . 5 6. 5 6
o
i s 2
g 40r / E'. E" tan O,
& .2
20 ., DBD ,
0 1 ! 1 / 1
a b ¢ d F
2 7. s
a— s b—Remacit 7/ WG; ¢c— Renacit 11/W G; DBD F 9%’ Re-
DB T e nacit 11/ WG F 13%.
100
\ 18
2 %A - L 6l
W ) ] 1 _
& 60 ? 12 _ —
¥ 10
¥ 40 / Z Z 7 i
& / 8
- Z :
20 L
/ % / af| | 2
Q ga % L A i 2 @ 3
'a b ¢ d 0 an{ut % ) %.—.—-J < ey
3 5 (23 C)
2 1— E' (MPa); 2— E' M Pa);
30 3— tanQ abc d 2
1
25H 14
. 1
20l . _ 12| _
2 10 ] B
15H 3
g\ ~ ;
10 | % % ?s
6.
N | AN
UV
0 DY | I ’\ 2 2
a b ¢ d a 3
0 _.LI e | o Am-n
4 a b c d
1—  (Cyo— (%);3— (5, 6 (60 C)

abc d 2 5



290 1999 46
800 100
90 —a
7001 a—qg 8 \
80—_/ a
600r] & 70 B% 2 34
1R
Esoo— ﬁ 60 y g
50!
R 400+ 2P
£ 300 £ 30| PN N
200} 21| N | N \
10
100F 0 E ] Q 1 d 1 ? s
0 1 I a b c d
a b ¢ d
8
7 F a— (70 ‘CX 14 d); b— (70 CxX 4 d);
abc d 2 c— (70 ‘Cx 28 d);d— (105 TxX 4 .
Renacit 7/WG F 18 %. = _ # 2~ Renacit U WG;
3—Renacit 11/ WG; 4—DBD
b b
800
) F
, 700F
( 4), Renacit 11/
600
WG s S
500f
3~4 R o
R 400-
’ H
3 . B 3001
200
4 ( ) 100~
Renacit Renacit DED 0 P b : c : 4
/WG 11/ WG
3 3 3 3 9 F
7
(70 ‘CX 14 D 4 3 3~4 3 .
Renacit 77 WG
(70 ‘CX 4 3~4 3~4 3~4 3 F s Renacit 11/ WG DBD
F . 14%.
(70 ‘Cx 28 ) 3 3 3 3
b
(105 TX 4 d) 2 2~3 2 2~3 ( 5).
) (F/
0 5 ( )
FoxX100%) 8. 8 )
Renacit Renacit
s DBD
WG 11/ WG
. s 3 3 3 3
F o
(70 Cx 14 d) 4 3 3~4 3
(70 Tx 4 d) 3~4 3~4 4 3
4, 4 , ,
(70 Tx 28 d) 3 3 3 3
) ( = too T (105 CX 4 d) 2 3~4 3 *
+60 min) ¥ , DBD

9. 9




5 291
10.
10 ,
3
. s s Renacit DBD
1/WG Renacit 11/WG
, PCTP Renacit 7/
5 5 , WG . ., NR
lgg 12 5 |
— )
80 qu TN (B R , Renacit 11/ WG Re-
% 70/ YN M nacit 7/ WG
¥ 60 DBD
¥ 50 . Renacit 11/WG
3 40 ] N tan O,
i1/ . Renacit 11/WG
20/ AN f .
10 é AN Renacit 7/ WG, NR
olLIrA 1 L L ’ 25%.
a b c d %8 % E“Rubber World”, 217 7] ,
10 32~36(1998)
8
5
rubber goods ( row natural rubber
) , , . ,
) . . . 0. 01
natural latex; natural rubber la-
tex; hevea latex
natural rubber )
R fresh latex; field latex
0. 90 ’ ’
70 . , :

» 60



